MODULE problem

EXTENDS Naturals, TLC

CONSTANT n

ASSUME n € Nat An > 2

VARIABLE p, z, q, minLimit

primeNum/(a) £ INSTANCE prime WITH pr < a
isPrime[m € Nat] = primeNum(m)! Next

Init = 2=0A p = 0 A minLimit = TRUE
A primeNum(n)! Init

Next = 3Im € Nat : isPrime[m] vV
IF z=0
THEN p’ =p\2 A2/ =2+1
ELSE p'=p—1A
IF isPrime[p’] A isPrime[z] A isPrime[p + z + 2]
THEN UNCHANGED (p, z) A Print(p’, TRUE)
ELSE IF p’ > 1
THEN z' =z + 1
ELSE minLimit = FALSE A UNCHANGED (p, z)

Spec = Init A O[Newt]y, 2

THEOREM Spec = OlInit
THEOREM Spec = minLimit
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